BHO-5:
da i= 350 a 400 milioni di iterazioni; ds=0.3E10; segue status 400 mil.:

****************************<br />

1=out-software i-esimo<br />
2=i=400000000<br />
3=r0=2.3716992096152E+26<br />
4=r1=2.3716992096152E+26<br />
5=rpunto0=127613710.72273<br />
6=rpuntol=127613710.72273<br />
7=rduepuntiO=-1.4314739906353E-10<br />
8=fi0= 12.906398384468<br />
9=fi1=12.906398384468<br />

10=fipunto0= 3.8535023420951E-27<br />
11=fipunto1=3.8535023420951E-27<br />
12=fiduepuntiO=-4.1468980184717E-45<br />
15=Kk(f(rpunto1)) = 0.90501529045141<br />
*k%chr />
16=time_s=ACC=clock_fisso=1.0183333375247E+18<br />
17=time_t=t0= 280131714543.2<br />
18=time_t=t1=280131714543.2<br />
19=tpunto0= 5.7488744999683E-7<br />
20=tpuntol=5.7488744999683E-7<br />
21=tduepuntiO= 1.1672257495909E-24<br />
*k%chr />

22=v=127613706.08169<br />

23=v_TG= O<br />
24=v_TOT=127613711.19988<br />
25=fi_gradi= 739.48215614448<br />
26=x0=2.2359085259803E+26<br />
27=y0=7.9099316315675E+25<br />



28=x1= 2.2359085299905E+26<br />
29=y1= 7.9099316457544E+25<br />
***<br />

36=rgi: = 3.12E+26<br />

****************************<br />



